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Quiz Start Time: 10:17 AM
Question # 1 of 10 ( Start time: 10:17:12 AM )
In near jump we jump any where within a segment.

Total Marks: 1

P Select correct option:
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Question # 2 of 10 ( Start time: 10:18:30 AM )
Which bit of the attributes byte represents the blue component of foreground color ?

Total Marks: 1

B Select correct option:
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Question # 3 of 10 ( Start time: 10:19:44 AM ) Total Marks: 1
Parameters clears from the stack by the

P Select correct option:

i caller
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i None of the given J
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Question # 5 of 10 ( Start time: 10:21:28 AM ) Total Marks: 1
Stack is a data structure that behaves manner.

B Select correct option:

[ LIFO

C

[ FIFO

C

Ej Both LIFO and FIFO
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i None of the given
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Question # 6 of 10 ( Start time: 10:22:43 AM ) Total Marks: 1

The maximum parameters a subroutine can receive are when all the general



registers are used.

B> Select correct option:
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Question # 7 of 10 ( Start time: 10:23:19 AM ) Total Marks: 1

PUSH increments SP (the stack pointer) by two and then transfers a word from the
source operand to the top of stack now pointed to by SP.

B Select correct option:

i True
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il False
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Question # 8 of 10 ( Start time: 10:23:53 AM ) Total Marks: 1
In And the out put only one if

P Select correct option:

i Both inputs are 0

-

i One is 0 and other is 1

i Both are 1
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i None of the given
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Question # 9 of 10 ( Start time: 10:24:47 AM ) Total Marks: 1
In the instruction "mov word [es:160], 0x1230", 30 represents the character

B Select correct option:
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Question # 10 of 10 ( Start time: 10:25:52 AM ) Total Marks: 1
Far calls are called intra segment calls.

B> Select correct option:

i True
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